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OZ2x=git= 132,000
-250( & 130,000& x53EH < 12& 82,680
-2040|&~25= 0] 2t
110,000 x0& * 122 11,880
-15E0[&~20=2 0] 2
80,0002 x 15 122 14,400
-104014/~15= 012t
60,0002 7 * 122 5,040
-5E0l4~10= 012
50,0002 «30H *12& 18,000
OIHHEH=E 296,280
OJ&E=g 116,280
BN} 40,0002 x99 « 12 47,520
-JIEt 20,0002 x38H * 12& 9,120
- AHA 30,0002 x38H 122 13,680
—=M XA 70,0002 x30E ~ 128 32,760
—ASUR KHA 10,0002 x10& 12& 13,200
OO0z 1,500,000& x10E « 12 180,000
O ] 82,920




SN AR #EX A
Hm: WHSAAH(MAT BEXAD)
el ol (B9l &2
% 5 4
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
SEEEEES= 4,080
25 50,0008+ * 122 1,200
-4 40,0003 6~ 122 2,880
OFS=ES[=Ra=, 10,0002 %324 » 122 3,600
OS+ge+y 75,240
s 24,000
S| SYL(53014)
50,0008 x2 * 122 1,200
I1EY2(6-72)
30,0003 »40H « 122 14,400
1£Y2(820151)
20,0002 +35F « 122 8,400
DlEFBLYIAS 18,600
- AASIHSO15E,IIAH
30,0002 x41H 128 14,760
T2 (AHIDIAL)
20,0003 15~ 128 3,600
- UHSIAB(2F, Fl)
10,0002 +2 122 240
R 250, 00021124 128 3,000
—SHEPLY 29,640
QgL 50,0002 0% * 12 5,400
ABIE Y R4 gt
70,0002 5222+ 128 18,480
MBI=XYS HetE
30,0003 x12F 128 4,320
AIRHAEARITHS
120,000&x 1+ 123 1,440
oulgZRg 8,000 1002 +32 2,400
Ox=2R=E 709,023
OAZeI224g
11,3193 174B«30A1 2t 12 709,023
OZHUSAHI 140,000& x174F 122 292,320
OYEEIH
6,556,898, 0002 * 1/ 12+60%*23] 655,690
O ItE at| 188,216
ool
776,462, 0002 * 1/ 12+ 78%+80%+ 1/30% 112 15,915
OsZH
6,556,898, 000! 1/ 12+86%+1/30x 11 172,301
odutd= 1,288,646
O6= 435,864,000 435,864
ors 242,307, 120& 242,308
O8= 227,919,230 227,920
093 382,553, 6002 382,554
ESE= LN 404,580




SN NP XD
. AY2IIH(MEF HEHAAD)
el QIEE2E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
042 400,0003x1*12& 4,800
Os5=z 250,000 «8H = 12& 24,000
O6= 185,000 x67 H* 122 148,740
ora 180,000 x30 122 84,240
0895 175,000 68 « 122 142,800
02 JIEtME = 559,571 509,409 50,162
Q=22 (¥a3E) 163,199
O31zs 4,161,300 2H* 122 99,872
OBzs 2,674,300 x1& 128 32,002
@)i=t= 2,602,880 x1& 12 31,235
O=g(323E) 39,166
(OF- (GRS, 18,520
-d2+g 163, 199, 000& *1/12+50%+23 13,600
-d2g0Rts 4,560
255014 130,000 x2&« 123 3,120
10014 15=0]et
60,0008 x2& * 122 1,440
AETLH(ER)
30,0002 x1& * 122 360
OIH28=E 3,600
IEE 3,600
SN} 40,0002 ~4&« 122 1,920
- JIE 20,0008 x2& x 122 480
UPNE 30,0002 x1& 122 360
- SMAHA 70,0002 x 18 * 122 840
Oxz=22=¢ 17,046
-AlZtel 2R eE
11,8372 x4 +30A 2t 123 17,046
OF A SAH| 140,000& x4~ 123 6.720
OE &=l 163, 199,000 *1/12+60%*23 16,320
O% 2 &l
163,199, 0002 *1/12x86%*1/30x 11 4,289
O8NS (HAZE) 12,515,000& 12,515
ONERE JIARE=
242,209,000 *1.75% 4,239
OAUEEHHMAIIHM (92 2 ) 299,364
OoJlz=s 37,530,000& *35/40A1 247 229,872
OAl2I22+E
9,620 x7H*30A 2+ 123 24,243
Od A SAMH| 140,000 7= 123 11,760
OXS=EZH|
175,000 x35A1 2H/40AI b7 B+ 12 12,863
OIE+e 3,000
-t Xt 40,0002 x3&* 122 1,440




SN NP XD
M AHHMPHAHI(MIAF HEXF D)
SC R IEE CERED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
-JIEt 20,0003« 1Y« 122 240
o U DNIE 110,000 x1H* 122 1,320
OS¢ 8,400
S22 100,000& 7 H 12 8,400
OGItE 4]
229,872,000 * 1/ 12+84%+86%+*1/210A1 2++140A| 2+
9,226
OLNERE JIARE=
299,364,000& *1.75% 5,239
OX =2 2| 8,520
OHIZE(ZA 180,000& »2%H 123 4,320
OFAZE(=Z) 175,000& x2 122 4,200
03 SR (RIAHY) 22X E> 305,853 334,877 20,976
OFAr2t2| & 145,559
OpIE==1(v =) 102,156
-283= 2,967,002 1B+ 128 35,606
205 2,850,6202 x1H x 128 34,208
-165= 2,695, 1402« 1H 122 32,342
OES=, 19,891
-EE 480
HH <> Xt 40,0002 1« 12& 480
-2y 14,302
2833 20, 7002201 2hx 1+ 123 4,968
053 19, B0 *20 A 2Hx 1B+ 123 4,788
1633 18, M0 *20A| 2Hx1H* 12 4,546
-2 5109
- 2883 148,350 x1H* 123 1,781
053 142,530 x1H 123 1,71
=2 134, 7502 x1H 123 1,617
OFHSA| 140,000 *3% » 12& 5,040
O&d==¢ 50,0003 3« 128 1,800
OS+ARSH( M)
50,0002 +3E+ 123 1,800
O E St 8,515
2835= 2,967, 0803 *50%+ 1H x23] 2,968
208 2,850, 620 *500%*1H »23| 2,851
-165= 2,695, 1402 *50%+ 14 x23] 2,6%
OS2 4| 6,357
283= 110,400 120 2,208
205 106,400 120 2,128
-6s= 101, 0402 1 H»20 2,021
OgAAHBSS) 46,39
OpIE==1) =) 2,592,410 x1F+ 122 31,109




SN NP XD
M HE2HIH(MAR HHXI2 D)
chel: ol (SHol: 12
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O+ 7,861
omDzsw
18, 2703 *20A| 2tx1H* 123 4,385
2544 129,620 x 1% 128 1,5%6
OtESg 1,920
HH < Kt 40,0002 *1H*12& 480
JIE 20,0003 x 1+ 12& 240
A RHAHA 30,0003 x 1« 12& 360
SMAHS 70,0003« 1« 128 840
O&FEHUZ A 140,000& *1H x 122 1,680
(OFSe-E= 50,0003 x 1+ 12& 600
OS4x2+e(g4g)
50,0003 * 1« 12& 600
OYE IOt 2,592, 4003 *50%*1H +23| 2,593
OHIHE &M 97,4403 1220 1,949
(OENEISES | 121,017
OpIE==1(v =) 82,206
Vs = 2,422, R0 *1B+ 128 29,076
138 2,345,350 x1Fx 128 28,145
382 2,082,070« 18122 24,985
Oxg 18,110
IS+ 2,280
b < Xt 40,0003 +3Z 123 1,440
SMAHA 70,0003 *1H 123 840
-2y 11,718
‘95 = 17, 17703 «20 A1 2Hx 1B+ 123 4,121
== 16,680 *20A| 2Hx 1B+ 123 4,004
- 38= 14,9703 *20 A 2Hx 1B 123 3,593
25 4,112
9IS = 121, 1402 x1Z 123 1,454
7SS 117, 2602 x 18123 1,408
3= 104, 100&*1H+ 122 1,250
O&FEUZ A 140,000& +3H 122 5,040
OZeisg 50,000 x3*12& 1,800
OS2xLLY(FE+Y)
50,0003+ 12& 1,800
OZEFOt| 6,852
9= 2,422, 203 x50+ 1H »23| 2,423
1338 2,345, 3403 #50%* 14 %23 2,346
333 2,082, 0602 *50%* 1 x23] 2,083
OS2 4| 5,209
9= 91,6003 *1H 20 1,832
1838 88,60 x 1220 1,780




SN NP XD
. AY2IIH(MEF HEHAAD)
el QIEE2E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
352 79,8403 x 1 »20 1,597
OHIMRA(1053) 42,885
Op=={(s =) 2,461, 7702~ 1E« 122 29,542
(OES 6.141
ETE 480
- JIEt 20,0002 x2&* 122 480
omnzsd
17,4302 +20 A1 2 1H+ 123 4,184
258 123,080&x 12+ 123 1,477
OdHZAH| 140,000 x1&* 122 1,680
Odcl=g 50,0002 x 1 * 12 600
oulge=g 50,0002 x1& 122 600
Og &SIl 2,461, 7602 x50+ 1H <22 2,462
OS2 4| 92,9603 18 »20 1,860
Za0ld 1,814,569 3,170,940 1,356,371
04 HSRESS 1,814,569 1,860,732 N46,163
2 =8AHdE8= 870,678 837,864 32,814
OHZ=EE JI2RY= 771,809
OggHA 21,243,020,0002%3.545% 753,066
OJIEHA 528,710,000 x3.545% 18,743
OFIIRAEE J|AR=S 98,869
Oggry 753,066,000& *12.81% 96,468
OJIEHA 18,743,0002 %12.81% 2,401
04 SR (RIH)22N BEE=RES S 943,891 1,022,868 NT8,977
ONEEE JI2REE=s
5,279,425,0003 *1.75% 92,390
OtHEE JI2RE=
5,279,425,000& * 1% 52,795
o=z JARgs, [UALEES JI
HEES 448,706,000 448,706
OISR A FAH3(8Y)
350,000,000 360,000
J1I=28Hl 485,790 493,183 AT,393
Jl=2&H] 485,790 493,183 AT7,393
201 el 187,592 190,572 22,980
01 At2teltl 181,130 184,110 2,980
Og=x+¢ 145,500
O=3 60,0002 x5 *3662 109,800
@)= 60,0003 x5 *119& 36,700
OJ|=gd R AH| 450,000 x26H 11,700
OZRH(RIIH <) m=H| 1,680
OFAR2ZIE 225 540
-5t= 90,0002 *3F *13] 270




2A:

I WH2AAH(HER BIXED)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
== 90,0002 %324 *13] 270
OXel2xe aes 540
-ot= 90,0003 *3E*12] 270
== 90,0003 *3&*12] 270
oYUM 222 180
-ot= 90,0003 *1& 18] Q0
-s= 90,0002 +124+1] %0
Oets st 60,0003 7 *x15+12] 420
0EIR L (YAY) 250, 0002 %27 500
CEENEIEE NS nlVEETESTN)
50,0003 *37H 2-+82 1,200
OYRA S Hla%E 7Y 390
OHla7Z 100, 00084 #37H 2 300
ORIl XA 30,0002 #30H 2 0
CEEEIICIE"FI)
8,000 x30+7Lx 12 20,160
02 S3=gHl 6,462 6,462 0
ORER=S 6,462
O 400215655122 2,712
=P 2,5003x1255+ 128 3,750
202 04| 19,440 25,200 Ab,760
01 =LHA LI 19,440 25,200 A5,760
CEINGENIGIE=-FI)
20,0003 x27 H+32 * 122 19,440
203 BR8] 41,230 41,230
01 J122g R4 26,400 26,400
OJ|EH(Ler7) 26,400,000& 26,400
02 HRIRHA R 9,550 9,550 0
o= 9,550
O100&0lst 40,0002 *100H 4,000
O1008 =1t 30,0002 %185 5,550
04 PR 5,280 5,280 0
oJlEA 5,280
03021015t 400,000 123 4,800
O30Q! =1t 5,000 8+ 122 480
204 MR FH| 154,200 154,200
01 Mg R3] 14,400 14,400
OXUZ YL XY 14,400
O4=7 12 400,000 x1E 128 4,800
Oss2x)|2 100,000& x8&H*12& 9,600
02 SLR3H 139,800 139,800 0
oY gsH (ZSE4E=) 111,000
O6=0lot 50,0002 x174H 123 104,400




SA: NP BIXAD
Hu: BYSAAH|(MBT BRI

Chel: J1=2 &l EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OoFaZZ 50,0003 x4+ 123 2,400
OAIRHIERAD | HI 50,000 x7H*12& 4,200
ONREE (HeEs)

100,000& x24H 123 28,800

307 QIZ2t01 A 81,328 80,581 747

o7 A2X32 81,328 80,581 747
O=2& o224 81,328
Ol ExE2 5,440,000 *3.981 13| 21,216
OAIZERIZ 3,536,000 =17 60,112

405 KHHESHI 2,000 1,400 600

01 XML =EF S| 2,000 1,400 600
OY&A TV 1,000,000 *1CH 1,000
OFEA TV 1,000,000 *1CH 1,000




Al & 0Ol & AFSE Z Ml A
AT 204 ABBI NP BEXAD ~ AP AT
SH M7 DIEXR D
M DAY LSS o NFM 78
CHol: AIQIOHE DIRISE AHIA 7 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N QRXIE 1,926,598 1,917,076 9,522
= 85,329
Al 1,841,269
ST HSS = U2AE E 114,283 117,379 23,096
= 85,329
Al 28,954
ARIEHE QIS MEIA S 62,330 66,052 N3,722
= 33,376
Al 28,954
e e 29 16,523 24,464 AT,941
201 er23 | 2,803 2,464 339
01 Al22t2lH] 2,808 2,464 339
oDlEA BAFHI(3E 7Y 5)
50,0003 x7 525 x90% 630
OE=J| gitz 45,0002 *1CH* 12 %90% 486
O3JI¥EI| Xz
42,0002 x1CH* 122 %90% 454
Odz=e SI1FEJ| 2l
650, 0002 *1CH*12/90% 585
Ox==2 iy 60,0002 *1CH* 123 90% 648
405 AtatE=H 13,720 13,720
01 TR =S FISHI 13,720 13,720
ONEEF =BHIIAAE A= 13,720
OINeATd Hagd))|
8,800,000 ~1CH 8,800
O¥ss &) 220,000 *4CH 880
O HEEZLIH 420,000 =2CH 840
OsgetE LI
3,200,000 1CH 3,200
DHEE QIARX 12,431 12,442 A1
201 er23 | 12,431 11,442 989
01 At2teltl 11,263 10,458 805
oA =X 7,180
O=AIEX] 23,0002 102 Ax 122 %90% 2,484
oclzeg EX 92,0003 #32 A %90% 249
OFs=Esx==2 EX
31,0003 »48¢ A %00% 12
Ol &U 230, 0003 #2LCH*42]*90% 1,656
O=AMII EH 280, 0003 #2CH*42]+90% 2,016
oA £l 70,0003 *2CH 42/ *90% 504
oelsdl ¢ 22,0002 «8IH*90f% 159
ORolAEZI] 1,83
ORoAEZ EA
63,0003 x32 A*90% 171
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SH M7 DIEXR D
M DAY LSS o NFM 78
CHol: AIQIOHE DIRISE AHIA 7 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 239t 20,7003 *15A12+<3E 932
= 932
7TEXt 16,6802 *15A| 2H+3E 751
= 751
Og&E=otdl 2,657
-234xt 1,483,540 x1E 12 1,484
= 1,484
A=\ 1,172,670 x 1812 1,173
= 1,173
201 fet=23y| 10,429 6,088 4,341
2 10,429
01 Al 221 bl 10,429 6,088 4,341
GRS 10,429
OGIALZAFAA FI=
4,40021%1, 00004 4,400
2 4,400
OnelH B S MRES
6,029,000& 6,029
= 6,029
202 04l 40 60 A0
= 40
01 =L 0L 40 60 220
CIREIECELSE
10,0003 x 11 =43 40
= 40
Aot HEE JIEAHSE 28 51,953 51,327 626
= 51,953
IS HSEAR XA 51,953 51,327 626
= 51,953
201 er23| 51,953 51,327 626
= 51,953
01 AtR2te|Hl 51,953 51,327 626
OQIIEANSSLYRFE Le=2HI(FF)
45,641,000 45,641
= 45,641
OIIEANSTLYRFE LE=2HI(Z01H)
3,759,000 3,759
= 3,759
OIIEANSSLYRFE L2H(BLH)
2,553,000& 2,553
= 2,553
et 1FE NEMEIA HE 1,675,984 1,609,100 66,884
SEE EXNEII FSLAES FHY =2 55,599 64,927 29,328
Z=tet HESAIXIDE A 51,466 62,827 A11,361




M2 I2IXI = Dt
gatet NEE NEMHIA WS
STe EXEII FSLAIES S8 &2 (SH &)
SA - B SRIBH) - MRAR - BAS A HIDEZ
101 @124H| 13,915 13,573 342
M ORINZZE2NSES 13,915 13,573 342
OMESAIXIIER JIZtH22 X Q1R 12,506
OFJI=1=) 78,8803 x1H+26 26 12,306
Og&E=Itd| 200,000 x1H =13 200
OCAUES JI2RE=2 1,409
O=2ld=s 12,506,000 4. 5% 563
oY e 12,506,000 *3.545% 444
OFIIRULEE 444,000 +12.81% 57
(ONE=Loh= 12,506,0002 *1.75% 219
O4tiEe 12,506,000 * 1% 126
201 Zet=d] 37,551 49,254 A11,703
01 At2teltl 22,351 34,054 A11,703
OMEBAIXI} LB SXE M
14031 %38, 0000H*90f% 4,788
OQIHESAIXDL &HY SHBEE M2
17,000 +6000H *90% 9,180
OHESAIXIL 8 3,262
Osl+=o 70,0002 1270 +42] 90% 3,024
Oyt 33, 0002 x2)H*45| *90% 238
OZAAEHEE & FH
10,0002 *300&*00f% 2,700
OWMEBX S NPEE
2,000,000 *90% 1,800
oZgH &U 230, 0002 *37H*90% 621
2 55234l 15,200 15,200 0
oRERS(LE) 4003 %38,000S 15,200
FS4& HHEAN BE 4,133 2,100 2,033
201 er=3| 2,633 600 2,033
01 At22t2l] 2,633 600 2,033
ORS&HANA DA MZ
2,000 x55+302 *90% 270
ORSMUIAANTA HE
2,000 x55+302 *90% 270
ORSUSHLR AtUBL S M=
7, 7503 x300+90% 2,093
301 22N = 1,500 1,500
14 JIEt2 8= 1,500 1,500
O=dY SHeA &l Za=
500,000& x14 500
OFRSHANIEE AR o=
1,000,000& %124 1,000
gd&et NHEE NS 65,773 71,623 A5,850
INESE S R 65,773 71,623 A5,850




SH: HET QIRKIE D
I et NFE NBAMHIA WS
ol ms NEFE Mz (Shol: % 2)
SA - B BRA(SH) - HRA - of v e HIDE2
101 @124H| 13,915 13,573 342
M ORINZZE2NSES 13,915 13,573 342
OXNHZYINZHLMTAL JIZEH22 4t ¢
£ 12,506
OoJlzs 78,8802 x1H+26 L6 12,306
Og&E=otdl 200,000 x1H =13 200
O4i2E JI2RY= 1,409
o=z 12,506,000 *4. 5% 563
OAHZEE 12,506,0002 *3.545% 444
OFIIRYEE 444,000 *12.81% 57
(@=L 12,506,000& *1.75% 219
O4tIEe 12,506,000 * 1% 126
201 Ler=23 | 51,858 58,050 A6,192
01 At2teltl 51,858 58,050 N6,192
ONEIIEE L3l ARs+42
180, 0002 *300& *90f% 48,600
OXHAUANI A M
10,0002 x55+202 0% 900
OEXNOISZ2AM Biol &
10,0002 *507H*90% 450
ONHSBRE dioll 7
40,0002 *307H*90f% 1,080
ONEBL 3 8N 7Y
23,0003 402+ A *00% 828
getst EXNEE NSS |l JIgt = 1,554,612 1,472,550 82,062
KETHEALALY =& 1,554,612 1,472,550 82,062
201 er23 | 36,345 37,550 1,206
01 At2teltl 35,745 36,950 1,206
OXHMZEAL JIEE X
90,0002 * 1358 *90f% 10,935
OXHMEAK T EEAGXF HAY
100, 0002 *10&*00f% 900
OXEMEA E2E MA
3,500 *1,0007H%90% 3,150
ORId=2EH dsdA
400,000 *1CH*90% 360
OXEMEAI? B2 BA+E
100,000& 92 +32 2,700
OTHZHARS BAELY
100,000& 9 & =32 2,700
OXNAEMEAL 282 &d ZEI ===
50,0002 «150& X|#27 | 2 15,000
02 S3=gHl 600 600 0
OAd=gdtl 2ot HI0IH Stles
20,0002~ 12& 240




SH: HET QIRKIE D
T YES DB NMMHIA M
&2 HEEt EXEE HsS fI8 JIg = (EEEE))
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OHIEE 26t HIOIE Stles
30,0002« 122 360
301 LeEN= 1,518,267 1,435,000 83,267
14 J|EtE &S 1,518,267 1,435,000 83,267
OXIEMEZAL ZEZ 1,518,267
O4tat, Fa, 3201, @2, e, JAHXIR
1,052,766, 2002 1,052,767
O2S, 271,234, 4S2X7
465,500,000 465,500
Y 2IZHI(MEF LJXHD) 136,331 190,597 N\54,266
eIz 2d| 67,387 105,521 A3B8,134
QI214| 67,387 105,521 A3B8,134
101 @124d| 67,387 105,521 A3B8,134
03 BRA(RIHL)22NHE S 67,387 105,521 A38,134
ONAHR 67,387
oJi2st=) 47,813
239Xt 2,967,090 128+ 26,704
A=PN 2,345,3502 1 +93 21,109
o= 12,929
-tEag 1,170
B <= Xt 40,0008 x1H+0 360
JIERDHS 90,0003 1+ 810
25 2,3%2
239 Xt 148,3502 12«03 1,3%
=hy 117,260 18+ 1,056
-JHSAH| 140,000& »2&+9& 2,520
T Bty 50,0003 x2H+0E 900
SR 50,0002 22«93 900
-AZtI 2R g 5,047
238 Xt 20,7003 *15A12H+0Z 2,7%
=k 16,6803 *15AI2H+9E 2,252
OEEFIHI 2,657
—23E@ Xt 1,483,540« 12 +12] 1,484
A=PN; 1,172,670« 1813 1,173
OS2 4| 3,988
239Xt 110,400 x 12 +20 2,208
7S Xt 88,9603 18 20 1,780
Jl=3l 68,944 85,076 16,132
JI=2&Hl 68,944 85,076 A16,132
201 LBt 47,904 51,016 A3, 112
01 AtR2telbl 24,684 27,8% N3,212
OJ|=2g R3] 450,000 x22H 9,900




SH: HET KR
I BHSEAY|(MET QAXED)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJIEZHI(=SEHI)
8,000 x2EH 7L x 12 14,784
02 S3=gHl 23,220 23,120 100
oRER3 23,220
Oost 40021 *400S * 122 1,920
=P 2,5003+6705+ 128 20,100
OAERE= 5,0002 %2405 1,200
202 04t 15,840 26,400 10,560
01 =LHOHI 15,840 26,400 10,560
O©J1=2Z2H| 20,0003 x22H+32 * 122 15,840
203 =4l 4,200 4,200
M FA2SHIFII 4,200 4,200
OJ1ZEH(2521015t) 350,000& * 122 4,200
405 AHAHE S 1,000 3,460 A2,480
01 AL =S F=H 1,000 3,460 22,460
OQIHESAIXIOHA MIEDI
1,000,000 *1CH 1,000




H & 0l & AHS B Ml A

M FHopE U Dojo=x =
CHl TOJOI BOHZ ¥ EXNEA (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
27 FU=SK 1,498,579 2,783,031 A1,284,452
FHHE & Hofel=X S8 40,370 53,520 213,150
el HAMS & SXNSH 13,090 24,200 A11,110
Zoje! SXsd 10,090 11,200 A1,110
201 fer= 3| 10,090 9,450 640
01 At 2|l 9,090 8,700 390
LI EFIASE FIEX
1,200 3, 0000 *90% 3,240
OBMNANBEXTY FXEX 2EE S
at 5021 +6,0007H+90% 270
A EFRFSE 2 5,580
OBE=Y 228 49
70,0002 *60IH*90f% 3,780
OEEE 2tz 1002 +8,0000H*90% 720
O8=2=3 2,000 *6007H*90% 1,080
02 S3=4gl 1,000 750 250
ououE X0l =48l 50,0002 *20CH 1,000
ST MLIE0l 28 3,000 3,000 0
307 21201 & 3,000 3,000
11 ARRIS XA E X 3,000 3,000
O=sE MaLS0l 29
3,000,000& %12 3,000
ZoHeI=X Jlgtxd 9,480 12,720 A3,240
MO OHQ! ety X3 9,480 12,720 73,240
301 LEtE NS 9,480 12,720 23,240
02 ARSI 2 X LGS (FHAAHS, W) 9,480 12,720 A3,240
OR=FHMH L2534 N&H
150,0002 x 150t 1+4E D1 9,000
odEEM(BE1E) WSt X
40,0002 x3H*4= | 480
HeA Xt & ==01 2e| 17,800 16,600 1,200
HAAZA & =0l 2e| 17,800 16,600 1,200
307 glztol & 17,800 16,600 1,200
0192 & 3=l 17,800 16,600 1,200
OAAIZ X+ HHIbI 1,000,000& *7+* 7,000
Ogera etxld 60,0003 x7 2% 14 5,880
O™YAAMLA S1=E 600,000 *7+* 4,200
OL=¢l FIt0iH] 10,0003 6~ 123 720
220t 20| e 2 627,547 914,023 N286,476
oldEory 368,820 449,500 80,680
g N2 168,400 211,200 52,800
301 EtE2 N = 168,400 211,200 ~52,800
02 AR 2HHLFS(HAAS, XNLHE) 158,400 211,200 /52,800
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o8&l =M2e| 32E =3
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O8&d =M3e| 3A2Y =25
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O8&d 2532 32H =3
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OzxdE 1,000,000 = 1CH
O8&d 2&X1el d2E =3
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O8&d 222 A=Y =25
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O8&d =X3e| d2H =5
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OzxdE 1,000,000 *1CH
outgs 24 3=2€ =28

O&IIYeE 300,000 *1CH
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outds HI| 3A2H =3
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E= 1PN 300,000 »1CH

300

300
300

600
300
300
300
300
1,000
1,000
1,500
1,500
1,500
1,500
1,500
1,500
300
300
1,500
1,500
1,500
1,500
1,000
1,000
300
300
1,500
1,500
1,500

300
300
300
300
1,800
1,500
300
1,500




OF
i) .
s n0

ok
F| Ko
Zl =
D
L3
T<
RIS
8883838383833 8833383388388383338383338838338838883888888
HDHhHoh&®o®ooonhhooooshnndhaggoeeobwnhgSHwHnhn oo H &6 B
al
<J
S

2
1,500,0002!*1CH
=
1,500,0002*1CH
1,500,0002!*1CH
300,0002!*1CH
300,0002*1CH
300,0002!*1CH
1,500,0002!*1CH
300,0002!*1CH
300,0002*1CH
1,500,0002!*1CH
1,500,0002!*1CH
1,500,00024 * 1CH
1,000,0002!*1CH
300,0002!*1CH
1,500,0002*1CH
1,000,0002!*1CH
1,500,0002*1CH
1,500,0002!*1CH
=
1,500,0002*1CH
1,500,0002!*1CH
1,500,00024 * 1CH

300, 0003 »1CH
1,500,000 *1CH

oo
X il 3
x B
Y o S o to 50 Ho
B 50 o o o e i oo Sy =W S
o o 0 mowmom mﬁ 0 s wm i o
=< 0 s
Ik weoon RO m A R & oMo o®oz 0oy
= El 50 = = = = R0 " G o o i | Wl M
S #< = = = = Wl i O Ol O Wl W] R = = o
o ™ ) al 0l 0l R = N N N - e = 5 2 2 E)
= = R0 gl 5 i 3 Y -~ 10 a0 0o a0 = 2 U ° = S
) U m R m  m A o S L = - S U R
o e a T T~ S - S B
I S K K K K o3 - Sen oS =N g
aHdml & o X W o o H ® Y T ® w5 oo s ® K
w| o D Wy Wy iy w5 By TS YK wW X o
RKOP Sy < S gw "o "o Pgta Pmmtm oyt o5 w0 ® oy W N oy Moy MDY
Hod] S [cwonwsswrsswswsWAsWasopnrswWon LR 2sTsdsdsasslzs
olilgy | M |5 050 DS e B HNSHRHDASHNs NWNDDNHDRHDNATDANSTSASASAEA® S
gy R [OIO0OIOOWMOMOMOMBMOBMOOMOMOMBMOMBMOMOKFOXOHOFOKOH OO0
6 00 H © © © © © © © © © © © © © © © © © ©
A0 MY
R T
i




od
i’
o
uJ

LB B|B|B RIS|IS|S S za|z |z
MR Slelele  1%%%%%
Ao ! S
E < J|<|<a]<
E=]
RB| B33 RNESIS|8 2313|133
D@ |o|®|® Ole|s|S Dl o]0 |0
" 3 SI8|8|8 B I e
3l - -
uild
RIS
S8 83888 88 888 83888 88 B S8 lxnlvlp|ln|ln o2 883818 SBBIB BB
e T B T T R B A B I N I E cle|ele o=
— — — — — — — | = DO O™
2 BIB|IB|R &
al
<
S
i} 5 03 = 53 5 0T ) = Ik = o
% Y x X Y XX X X 8 ¥
4] of) 4] of) ol of [0 of [0 (4] M of) m_wo
o | E® SwZM E® EED S5 S f x :
i) *
Y guy 8. 8 & g 8 g W g 8 2 5 8 o)
. RO - - mm - - S
I+ =) wi %0 = 5
< i 5 i = g o
= < 80 [ K0 A0 m_w
= = =< o - 0 -
Q) o o 1o | %0 ok o °©
F 0 = = a0 S| & R0 Ao | & o o
mqm WOk o) o) K < ok | = 5 ¥ | A E=)
. I I = T < 5l r 5 oW | |M 2 |RIRO )
- ~&5 ~&®3 <l <l =R R0 70|22 TR =l S [01ohg|op |
&l G-I R ~ o R 30 B U N SR Y A i oF
RO O W O B O O 0 O O KAk =1 OO (W0 g | =
© © [0 m@ = © of | K0 | 3D py
X " u | = sl [Ur | &
T o1 | = of | K| <4 |k
0 | = H 3| =
H R




27 F0I=X B
oiZpio| 2B
MNASE 420ty &2 Q&)
SA - B SRIBH) - MRAR - BAS A HIDEZ
O=HHEEXH 3,159
OZ AHH 100,000 *15IH*90% 1,350
Og=% 70,0002 *3IH*90f% 189
O2E=8 10,0002 *180IH*00f% 1,620
HH2IBHI(MET F=X1) 76,122 104,268 128,146
Jl=23H 76,122 104,268 N28,146
Jl=23H] 76,122 104,268 N28,146
201 Zet=3hl 52,602 59,968 NT,366
01 AtR2t2|HI 28,002 32,968 A4,966
OJl=H R4 AY| 450, 00021 +26% 0% 10,530
oJIEZHI (22
8,000 «26H 7L * 122 17,472
02 S5=2g4l 24,600 27,000 A2,400
oRER=s 22,200
ogegt 40023*1,5008 122 7,200
OSII 2,500 x500S+ 122 15,000
OSEFUE MSZ(AEI=XA)
50,000 =4LH =122 2,400
202 04| 18,720 31,200 212,480
01 2LHOIH 18,720 31,200 A12,480
OJ1=2Z24| 20,0003 x26ZH 32 * 12 18,720
203 =] 4,800 4,800
MU A2 LRSI 4,800 4,800
O©JIZ=H(302!0l5t) 400,000 12& 4,800




Al & 0Ol & AFSE Z Ml A
248 20lat LBeI A XA Y ~ A AF)
A MET MBS
33 NSSH 2d3st Jlet
=R NSEM 243 &2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NET AgusS 71,205 81,150 29,945
NSBH &dat Jlet 11,942 7,638 4,304
N3N gdat &2 11,942 7,638 4,304
Nelde ot™st Jlgh &4 2,604 4,008 1,404
201 fer= 3| 1,404 2,808 1,404
03 &A= 1,404 2,808 A1,404
OJl1gogols M S& 1,404
OZA==g 230,000 x2H *13] 460
ogns 12,0002 x62H x2H*13] 144
Ou M XiZH| 8,000&x1002 *13] 800
301 EtE NS 1,200 1,200
11 #AIAHIXIE S 1,200 1,200
OJ1gels sl 2tasl 300,000 *43] 1,200
Heddggs 89 7,519 1,450 6,069
101 e124d| 4,829 0 4,829
M ORNZZ2NSE S 4,829 0 4,829
OAHEI| HIIBAL 2202
78,8802 x1& x5 4,339
OJIZHHZ22 X 40282 490
Oo=egs 4,339,000 4. 5% 196
OUL LS RES
4,339,000 +3.545% 154
OFIIRLEE=RES
154,00024%12.81% 20
OUEEEz2RE3 4,339,000& *1.75% 76
Ottt R &= 4,339,000 1% 44
201 =3 2,690 1,450 1,240
01 At2t2lt] 2,690 1,450 1,240
OLMAE A HEI| FIIBA SHl & A&
= PNE= 1,430
O=zs % g giz 440,000 =2 880
OzdeA 34 275,000 x2 550
OHEI HIIZA 2EHI 1,260
OAEI| FIlaMEs R
25024 +1,0000H*90% 225
OAEI FIIZA et S5 & ERS
70,0002 *15IH*90% 945
OAHEI EIIZ AL BHEHAIAITH
100,000 *1JH*90f% 0
IS =2 E & JtAotd2te| 1,819 2,180 A361
201 er23 | 1,819 2,180 A361
01 At2teltl 1,819 2,180 A361
O47 € JtAotM 2| EEE M
19021+9,0000H*90% 1,539
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Al &£ 0ol & A & Al A
248 20lat LBeI A XA Y ~ A AF)
S HET HRD
S KA 2el
el Z=tst XN 21t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NET AR 451,924 471,114 219,190
KAl 2tel 395,116 395,702 586
atet N2AM =t 256,437 257,944 1,507
ANYA 2 & 22 256,437 257,944 1,507
201 fer= 3| 256,437 257,944 1,507
01 At 2|l 57,025 58,433 A1,408
OXIgA FUHF =& 35,829
OFJlg DXM Mz & & 19,404
-SSYSIA OXAM M & =
77,0003 104} X} 770
NS DM HE 2 £
77,0003 *77 & At 5,929
-MHARA XA M & £
77,0002 10524 &t 8,085
-SOA DXA WA K EH
77,0003 *604} At 4,620
O=x=AlE2 12XIAM 77,0002 194 A} 1,463
OXSIHA AZDXM HE L =
77,0003 x26 &} At 2,002
OXtg= XA 77,0002 334 At 2,541
OMI2l==& XA 77,0003 x24 &8 X} 1,848
OetE 6,006
-XIgAetg et
77,0003 »25& At 1,925
-UEE U2 77,0002 3924 &t 3,003
-NSASH U E
77,0003 1448 X} 1,078
OHESEF M 1002 *19,0000H *90% 1,710
OoHsSsE M= 2002 4, 75001 *90% 855
OXNZHMFY HR2ZH 225 F 7,121
OZegH &4 230,000 x28IH*90f% 5,7%
O=ALEX 23,0002 x64&} X+90% 1,325
OXZAH 22 14,075
OXIZAME g2 elS3 M
230 x5 *4, 70001 *90% 4,865
OFJIzZ NgH gFet=
1002 *20,000&*90% 1,800
Og=% 70,0003 %132/ *37H A 2,730
Oogzte 30,0003 %132/ * 110 A 4,290
OBl 30,0003 #1332 * 10 2 390
2 s5=34l 199,412 199,511 A9
ORERS(HIIZ, =AE, NHEE, 2AUI) 192,973
oget 4002 +330,000S 132,000
O=p) 2,500& »24,389& 60,973




2A:

N2 ARt

S KA 2el
el Z=tst XN 21t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNLASA 28 sS4 0122
100&+8,0002 800
OXZA 238 ANIEE ME=
24,7503 10+ 122 297
OHIAREH| FAIHI 5,342
Onsoelyo| 20,000,000 *1CH*8% 1,600
OB K= AR 3,200, 0002 *2CH*8% 512
OS2 M AMIED] 2,300,000 «2LH*8% 368
Ox=&371 3,630,000 *1CH*8% 291
osgl 8,730,000 *1CH*8% 699
ORel+=gJ| 23,400,000 *1CH*8% 1,872
250 HyAR =+ 138,679 137,758 921
NZA M =2t 138,679 137,758 921
201 fer23y| 113,679 112,758 921
01 AtR2t2lHI 31,175 28,006 3,169
OXZH =2 =8 27,19
OMEH DA M o =
77,0002 198 At 1,463
O==8 & & 23
77,0003 *56 &) At 4,312
OHMg =2 M& & £
77,0002 x93 & A} 7,161
OotEk etz 77,0002 194t A} 1,463
O3lME === 600,000 x5024x25% 7,500
O & WA HEX=ZE =82
2,000&*1,00021 2,000
OXSEME 20t XU DAIAE S/W 2
= 3,300,000& 3,300
OMEds g2Fd 422 7Y 2,836
OZgH &H 230,000 *9IH+90% 1,863
O=ALEX 23,0003 474} X+90% 973
OMge S8t 82 1,140
Ol+=2 70,0003 *22]*30H A 420
Oogztet 30,0003 *23 * 110 A 660
Ot 30,0003 %2210 2 60
02 S3=gl 82,504 84,752 N2,248
ORERS(MERIMN SEZ 01NE,
2) 77,950
Oggt 4002 *173,000S 69,200
oSl 2,5002+3,500& 8,750
OZXE ALIEEZE AMES
24, 7503 =20~ 128 5%4
OB HIANAY FAE2=H
330,000& * 128 3,960
303 Zal= 25,000 25,000 0




SN AR NP
Ba: KN 22
l‘:_},_(r)_I §§I‘|O| i.“l_l»ol-l PSS (C|'

SA - B SRIBH) - MRAR - BAS A HIDEZ
01 &= 25,000 25,000 0
(CFSERASE 25,000
020213 Ol ™ 180,000,000& %5/100 9,000
020224 200,000,000& *3/100 6,000
020238 = 1,000,000,000& %1/100 10,000
AY2SZHI(MET AR 56,808 75,412 18,604
234l 56,808 75,412 18,604
Jl=23H| 56,808 75,412 18,604
201 Zet=Ehl 26,928 30,912 A3,984
01 AtR2t2|HI 26,928 30,912 A3,984
Ol R4LAY| 450, 00024 %242 10,800
oJIEZHI(22)
8,000 x24H 7L * 122 16,128
202 04| 25,680 34,800 29,120
01 2LHOIH 13,680 22,800 N9,120
OJ1=2Z24| 20,0002 x 19 +3L 122 13,680
02 21201 12,000 12,000 0
CHEYER R T:]
200,000 x5 122 12,000
203 R 4,200 4,200
M EASHLRFAH 4,200 4,200
©JIEH(2521015t) 360,000&* 122 4,200




g 8 A A

M NET SR
M ot JNRE OISUR TAIEE =4
Rl S dEEExd EEREE)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
MR St 5,450,088 5,216,579 233,509
9f0 JNRE OLEL2 TAIEE &4 781,132 611,978 169, 154
EG MEFIY 724,888 547,584 177,304
Me=2s =8 28t 3,953 5,392 A1,439
201 L2 | 3,953 5,392 A1,439
01 At 22|l 3,953 5,392 A1,439
OHEZS +T=2Y
300, 0002 * 123 *90% 3,240
OHg&s 28t XIAHX etz
66,0002 * 122 *90% 713
MY Dl REHEI| LA 37,871 37,828 43
201 Ler2 | 18,071 18,028 43
01 At 2telt] 4,239 5,460 A1,221
oM Dl S-S oY 3,825
O=8SI| &N ZF0E
35,000& * 113 *107H*90% 3,465
OZAIDt0et & Z0E
20,0002 *2070*90% 360
OSH SHEAK £82 Zgld EY
230,000 270 *90% 414
02 3244l 13,832 12,568 1,264
OZAIZtHIe IEY 3HAIEZ
36,0003 162 &+ 123 6,912
O=8SI| HUX stz KAzl
15,000 80K 1,200
038 SUE MEE(BESI| =)
50,0002 = 1CH*12& 600
OZHAIDtHIeH = XIZeld|
4,000,000 = 16CH *8% 5,120
401 AIEBIZ20HbI 19,800 19,800
01 Al&Hl 19,800 19,800
OZAIStH2HREE) olMAXIH
450,000 *11CH*43] 19,800
23 A & MDD =828t 674,684 501,944 172,740
201 L2 | 338,380 386,340 AAT7,960
01 At 22|l 29,584 30,668 A1,084
OBTTLE AHDT AAF 2T
120,000& *1E »23| 240
OBFT2E ZOIL2IY AR
170,000&+12& 2,040
OBZIRIME F4I| UMD
30,0002 = 1CH+12& 360
OUEHYIZ tigdln Rz X
143,000 * 102+ A *3CH*90% 3,861
OUEHII2 MDES
100-2*20,0000H *90% 1,800




SN MR BT
M o) RS OB TAIEE X4
el A MESHAIY (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OUEHIIZ CleHY Z2H ==&
1,350,000& = 12& 16,200
OUgHII= dIz =88 ElH
230,000 x6IH*90% 1,242
OFHAXE 2L
4,500 *33H *28CH*90% 341
OYXI(2Y) HOIZE Meldl
350,000 *10& 3,500
02 SE==29| 308,7% 355,672 A46,876
032 SUHE ANE22(HAYR)
20,0003 = 1CH* 123 240
OUEHEIIZS =HXI PDA AIEE
33,0002 x6CH+ 12& 2,376
OBABLIME FMYS £4B
20,0002 128 240
OF LIS ZHAIAE AIZZ
17,000 +x21CH* 12 4,284
O LI 2el 6,680
OFINIZAN =2 35,0002 280K 980
OZ&ZA 222 (UHE)
85,0003 *20CH 1,700
OTEHAN =22 (5 - 2 8)
75,000 *8CH 600
OFAHINA HSED| A2
1,100,000 *3CH 3,300
O3 &=ZXt RS XA 50,0002 *2CH 100
OIS SXIHI(28CH) 289,400
OFHAINE - UHE) 10,800,000 *26CH 280,800
OFSIHAE) 4,300,000& +2CH 8,600
OXIHX SXI2el(10h) 4,876
OXIAX = 1,521&%100 £ » 122 1,826
OXIAX KXl 2,000,000 *1CH 2,000
OXIAIX B8 1,000,000 *1CH 1,000
OXIAX BAt=r=Z 50,0002 *1CH 50
OZEZ! AIME2E YWs1 7|
7,000,000 *10% 700
206 =4l 56,304 60,304 24,000
01 M=l 56,304 60,304 24,000
CHAAMXE IR 25,200
O=LEHA 280,000 4 CH* 1504 16,800
OAOIEEZ A 140,000 *4CH = 1504 8,400
oXAZE (ULl S)
50,000 =125+ 12& 7,200
OFAHY 22 422
15,0002 x68H 1,020
OBATLE 2JU4E 40,0002+105 400




SN MR BT
MM o) JHRE OIELR TAIEE =4
Hel oiNs dEedxy (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSAZDHME YAL=RE
15,0002 *80H 1,200
OsBERN AHHESEH 21,284
(OF= 13 JNFSg=) 12,0002 68 +50H 4,080
ogaoA3 1,500 68 *100& 10,200
o=Zerd 8,000 68 14 544
o&==2al 7,500 68 *1H 510
Oslcl2= 35,0002 x68H *1H 2,380
OLED && T 25,0002 68 *1H 1,700
Ogsetaz 5,500 x68 H x5 H 1,870
405 AHaHE = 280,000 55,300 224,700
01 ML ESFSHI 280,000 55,300 224,700
OdEM I =HIE 7Y
140,000, 0002 =2CH 280,000
S0 JHRE MEAT 2SI EN 8,380 2,420 5,960
201 fer=3| 8,380 1,140 7,240
01 At 22|l 8,380 1,140 7,240
OSHIE Medl st 8= 6,726
OX0bts &dus JA=g
120,000 x 18 %253 3,000
Ol 70,0002 x2IH*90f% 126
OgE= 2,000 %2, 0007H*90f% 3,600
O131E8= UIAES atB3xetdl 83 1,654
Ostz&lstd A S8 ME
15,0002 *500H 2 %90% 675
OgZzstgA QHEIE K=
1,450 *5IH*500H A #3271 %90% 979
AAE MOl 2tAUZ I 16,740 36,188 19,448
He=s SSAE 2 520 620 A100
201 et 3| 400 500 A100
02 s3=gHl 400 500 A100
oY== EsAE |2l
100,000 44 A 400
206 M=l 120 120
01 MZH| 120 120
OY=8 ANEMFE MY
1,200 *100H 120
SHINERYS 2 16,220 35,568 19,348
201 ger=3| 16,220 35,568 19,348
01 At 2|l 7,670 10,018 A2,348
OBZNERYE S XA I 5,200
o&JI= 1002 %6, 0000H*22] 1,200
O=8=2 1002%20,0000H*23 4,000




SN MR 22D
Z2: oD JIRS OISCI2 TAIBY X4
Rl KHEISAHOl 2tE ™ &N EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OGOty B8 HIN
60,0002 #117}x23] 1,320
OBANLLLS 018448 U¥ 1,150
ORSO0IH =42 5024530024 +23] 20
OJtaH T Y48
80%11,00021 122 960
ORISR 0182
3020021+ 122 72
OXIZED $42 22,0002 %421 &8
2 ZZ2H 8,550 25,550 A17,000
OBANLRLT DAN LS SRS 8,550
OFIlZ (e 4002 +6,00001*23] 4,800
oFII=(821) 2,5002 %1100 %28 550
OS=E (e 400214, 0000423 3,200
BAAILO| eiat 21l 17,814 11,080 6,734
S - FAE R 3,414 3,560 A166
201 Ler2 ] 3,294 3,460 A166
01 AR 22l 2,454 2,620 A 166
OFSE HAQHY HABT 14
80,0002+ 1284 2 960
oMEo+YR R NN
1, 0002 +5000H +90% 450
ONE2LHBAIL NSHAS TI=| 1,044
Oz 190, 000! <4200 684
Ogrels 100, 000! <4290 360
2 ZZ2H) 840 840 0
024 U IE2L a8 BHE A2
70,0002+ 1CH+ 1224 840
206 TH2 8| 120 20
o1 HEH| 120 20
ONMeIGHHIAIL B M4 T
1,20021000} 120
35 - FsEA F2RAL 14,400 7,500 6,900
206 Th26| 14,400 7,500 6,900
o1 TH2b| 14,400 7,500 6,900
OARISTA ADE 80,0002 1874 14,400
BT HEANYE 2l 21,600 17,126 4,564
SYRASH WEYL 22| Ust 21,600 17,126 4,564
201 2Bt2 | 18,328 13,780 4,548
01 AlR 22l 16,448 1,900 4,548
OUDILLSH ANEMH He+4+E
80,0002 487} 2:+13] 6,400
O4BIHINEE SHOY +48
160, 00024374 £+ 13T Q1€ 6,240




2A:

My 5 OIE0I2 TAIB X4
o9l BARHSA HEAYT el (cre): xg)
SA - Z - B2A(S1H) - HRAES of v e HIDE2
OEL2ET HA =2
900,000 *23] 1,800
OB LEAILAl SHIXlel & HII=SX eI
500,000 22 1,000
OB S22 NH(HYHE S 28)
1,000 4005 *90% 360
OHH=E HHEAE H5E L=l
90, 0002 +4%4 +2Z+90% 648
2 ZZ2H| 1,880 1,880 0
osE=FTY SNB2AL
200,000 45 800
oK FUHZ AIER
70,000 *1CH =122 840
OStZUAXCl EHEXH PC AIEZ
20,0002 «1CH* 12 240
206 MH=H| 2,730 2,730
01 M=4l 2,730 2,730
o=d22g ZME| 2,110
ORYHA, 5, 8 S
560,000 x 12+ A 550
OFREHN S 100,000 x22+ A 200
ogdls, dAiAT S
200,000 *4H 800
OJtsdset 40,000 *4 K 160
Oetd gt 100,000 x4 400
O=2IANE R H=+E 220
OPEE(41) 1,500& *80H 120
ORelg((1e) 100,0003 12+ A 100
OFHANE ZEE = 40,0002 * 10K 400
301 EtE NS 632 616 16
14 IIEt2 8= 632 616 16
OSHLH=E HEANSY 2SS B8
il 78,880 x4 #2353 632
AL == gy 6,724 9,460 N2, 736
A 2e| 2at 6,724 9,460 N2,736
Pl 2| 3,294 4,880 A1,586
201 Ler23 | 3,294 4,880 A1,586
01 AtR2t2ltl 3,2%4 4,880 1,586
O YA SURAAA ClaHH]
12031 %123*1, 50000 *90% 1,944
OAESS Y & SASINEAY E2=
1,0002 *1,5009H%90% 1,350
A NE=EHS 3,430 4,580 A1,150
201 et 3| 3,430 4,580 1,150
01 At22t2l] 3,430 4,580 A1,150




2A:

NE: UL AF B4
ol M 2 28 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OSIMTTEZ AA olH]
5002 *4Z+8000H*90% 1,440
ORZEHAE 22 g8=
1,000& *1,5009H*90% 1,350
O3BAEE ST HIF LH=AL EE =
== 640,000 1 640
HN2AEH(MS? SE2AM) 4,662,232 4,595,141 67,091
QI A| 4,497,124 4,419,764 77,360
o1zl 4,497,124 4,419,764 77,360
101 2124l 4,497,124 4,419,764 77,360
03 SRA(RINHS) 22X 2 4,497,124 4,362,089 135,035
OSESRE 2R 4,431,431
oJles 2,300, 1702 ~68H 123 1,876,939
O, 1,060,871
| 2,600, 1702 +50%+68 L 43| 353,624
=T 2,600, 17021 +50%+68 %63 530,435
-¥24Y 2,600, 1704505682525 176,812
OFYsg 848,927
SAUSE ALY
90,0002 68 x 12 73,440
AT A+ 70,0002 68K x 123 57,120
-EH2YoH3 80,0003 ~68H x 12& 65,280
-tEg 102,720
HH < Kt 40,0002 68+ 122 32,640
A RHAHA 30,0002 68K+ 12& 24,480
=M A 70,0003 *30Z 123 25,200
AR RHA 110,000 x10H 123 13,200
tH<Atet HE Mol SIS
20,0002 *30H + 122 7,200
-NESHIEE Y 7,500
CHEr A4 500,000 x 15 *13] 7,500
=L PR 542,867
SHEE
144, 6232 x68H x32 » 12 354,038
ORI2SR g
9,642 x68F 24« 12 188,829
O=c|Z= M| 326,414
- MZAH| 140,0002 68«12 114,240
-HEZFOH| 2,600, 1702 +60%+68 L 23| 212,174
O=4=X 108,480
-/ 48H| 80,000 ~68Z x 12& 65,280
R+ 50,0003 ~68E * 12& 40,800
As4y 200,000+ 12+ 122 2,400
oeiRRaLL 164, 26421682 +202 209,800




SN T SFSIMD
. AY2IIHI(ME T S3AD)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEFEETEE e
2,300, 1703 ~42068 L x13] 65,693
Jl=23H| 165,108 175,377 10,269
Jl=23H] 165,108 175,377 10,269
201 fet=2 3| 120,828 124,857 A4,029
01 AtR2t2|HI 95,608 99,112 A3,504
OJ|2E R3] 450,000 x24H 10,800
OJIZZHI(S&HI)
8,000 x24H 7L+ 12 16,128
oszTen SuIYY
8,000 +682 »20! 10,880
Ods=A U=t 57,800
oxgs 90,0002 x68 L +65 36,720
Oogset= 100,000 x68 2 *13] 6.800
OZ 2 15,0002 x68 2 x22| 2,040
Oetd gt 60,0002 «68H *23] 8,160
O&st 15,0002 68 »23] 2,040
Oo=9 15,0003 68 *13] 1,020
Oetd 15,0003 68 *13] 1,020
2 s5=34l 25,220 25,745 A525
OEZFH HlYE Sy 2,360
o=z 30,0002 68 *13] 2,040
OW&S (&I AIHSKL)
35,0003 2 *13] 70
OHgEIZ(MRHER)
95,0003 2 18] 190
OR#d £ - BXIIRAI(MAX ZF)
8,500 *7 13 60
OBERE FHIZY
150,000 x68H *30% 3,060
OHSFA HIZ0HII=HI
500,000 *682Z *10% 3,400
oRER3 16,000
oget 400 *15,0000H 6,000
OsII 2,500 *4,0000HK 10,000
O I= AR 22l
5,000, 0002 *1CH*8% 400
202 048l 35,760 42,000 26,240
01 2L AL 9,360 15,600 N\6,240
O©JI=&H| 20,0002 x 132 +32 * 12 9,360
02 XN 26,400 26,400 0
OJ|=Z2H4l 200,000 x11&~ 128 26,400
203 HR=&H] 8,520 8,520
M EA2HER=AH 8,520 8,520




M AT SR

Hu: SYSAAY(MRT SN

©e: J|=4hl EER

= - q LS
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OJ|1=XH 8,520
03021015 400,000 x 12 4,800
=1 5,0003 62« 12& 3,720




Al & 0Ol & AFSE Z Ml A
248 20lat LBeI A XA Y ~ A AF)
S NHET e
= G JI2EE L4
&el: Jiz2 . 2ets |2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NS A&t 10,231,091 12,619,685 A2,388,5%4
= 308,400
Al 9,922,691
RS JI2EE X4 2,797,734 2,259,499 538,235
2 2ots FXl2tel 2,797,734 2,259,499 538,235
Ji2eers dd 2w 1,120,520 761,266 369,254
401 AIEHIZ SR HYI 1,120,520 761,266 369,254
01 Al&HI 1,116,500 756,500 360,000
OTEHE HES wMSA
1,000,000 *604 4 2= 604,000
OFets Al &X
1,500,000 * 10090 £ 150,000
Ok= JIZ2S LED WXl
1,000,000 * 15004 2~ 150,000
Ook= Jt2S =88 uAl
7,500,000 * 1574 2= 112,500
Ok= 2ots LD uH
1,000,000 *407H 2~ 40,000
OWdHEA HYsS st LIS WA
1,000, 0002 *60H 2 60,000
03 Al 20HHI 4,020 4,766 AT46
OJtZ=2ots Ald & wi|
1,116,500,000& +0. 36% 4,020
l22ers 2 1,677,214 1,471,946 205,268
201 er2 3| 1,252,510 992,226 260,284
01 AtR2telHl 16,510 18,786 N2,276
O+EHE &tz W=
180,000& * 12 2,160
OJt2S HI|EH BE+==8 13,750
ozdg 55,0003 *2500H A 13,750
OEHMMEZZ IY(EST)HH0IE
600,000& 600
02 S3=gHl 1,236,000 973,440 262,560
OJIz2ets &K= 1,227,000
OJzs 250,0003 x2500 A+ 12 750,000
Oo=ets 7,50031%5, 30001 2+ 12 477,000
OJt=s gge HE)| SKR=
3,000 x2500H -+ 123 9,000
206 M=l 102,400 127,200 N\24,800
01 M=4l 102,400 127,200 A24,800
oJIiz=2ets 2+ K 102,400
BorsH e 100, 00024 %2504 25,000
Oz SYYE )
2,200,000 *4H 8,800
OLED B 80W 100,000 *50H 5,000




SA: MR AL

M ANE l2e x4
Chelr Ji2 . 2ots |AlZel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLED S+ 700 420,0002 704 29,400
OLED SI1+ 1000 460,000 *200H 9,200
OLED SI1++ 1200 500, 000& *20K 10,000
OLED SI1=+ 150W 600,000 *257K 15,000
401 Al HIZL 201 322,304 362,520 230,216
01 Al&HI 320,000 350,000 30,000
ozEts RAEs 320,000,000 320,000
03 Al 2 HHI 2,304 2,520 A216
OJIRBOUS SABA
320,000, 0002 %0.72% 2,304
g oeedsS ?Ist TADIgEd 5,367,497 8,351,211 A2,983,714
s 308,400
Al 5,089,097
CE12m0I2te] SAIHEER OHE 604,529 753,275 A148,746
C2IIBAIE &FE X 27,547 29,8% A2,308
201 er23| 27,547 29,855 22,308
01 AtR22te|Hl 24,476 24,270 206
S SR2(AES 28028 X 2 12XI)
600,000 * 12 7,200
OZAIAELIH HHEY ARS 3,566
O=ALEX 23,0003 x52 A x 122 x00% 1,242
OZegH &4 230, 0002 *8IH*90% 1,656
@)= 66, 5002 *1CH*42]«90% 240
OEd 95,0003 *5IH+90% 428
OEXNgEHE 225y & S)Ie++& 2,310
OFg=+& 260,000 «72 X| 1,820
OSJl==& 70,000 «7& X 490
Ofede, =2HE SFTAL & AEEH
s g S 950,000 «1CH* 122 11,400
2 S22l 3.07M 5,585 A2,514
Oxtgr=z =l 1,5003 #8240 3,07
I E2EHYUEX 24 88,490 108,420 219,930
401 AlZHIZL RO 88,490 108,420 219,930
01 Al&HI 88,490 108,420 219,930
QI = HYEALE 88,490
OEXoH I 80,000,000 80,000
(OF =R = 8,490
-SI0ld =2 77,0003 102 X| 770
2gEgrrs 344,000 «52 X| 1,720
8=
200,000 204 7| 2t 152 X| 6,000
oe FYUMFHE JLE=Z LA 488,492 15,000 473,492
401 AIEHIZ SR THYI 488,492 15,000 473,492




2A:

A= A4t

g g Jgeds fle TADIgES
SRl =2 12m0(2tel SAIHEEZ OHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 485,000 15,000 470,000
Otrg=0HSFUE MYEZ HESAHL=220m
, B=6~9m) 485,000,000& 485,000
03 Al 2 THHI 3,492 0 3,492
Ottg=0IMSHH MUE2 HESA
485,000,000& +0.72% 3,492
C2ae 4,378,629 7,111,936 A2,733,307
C23EH € |AE2+ 2,320,861 2,532,430 A211,569
101 @124H| 3,325 3,254 Il
M ORINZZ2NSE S 3,325 3,254 7
OWSE LA 3,325
ooy 84,0202 +2% *3 1l CH*6IH A 3,025
O2tAMH|
3, 0003 #2& +3 1l CH+6 I A %22 216
O4HES JI2RE=23 84
-1ELE 3,025,000& *1.75% 53
~SHEE 3,025,000 * 1% 31
201 er23| 78,853 77,478 1,375
01 AtR2t2|HI 44,152 41,163 2,989
O3F a2 9,175
O 34,0002 102 X 3,440
OB A&+ 526,000 102 X| 5,260
O=FMatate] FLUOHEX2 M
47,5002 107K 475
OT=ZFHl EHE A2F 1,579
O=Zgd &: 230, 0002 *5IH*90f% 1,035
OoZgy &3 50,3503 *1JH*12& x90% 544
odHl Xtz 21,000
O=4| 740,000+ 10H*15& 11,100
OBEEH 660,000 «1CH* 15 9,900
O==Z2d ST & NE-HHE I
Xt 950,000& x1CH* 12 11,400
ORI A= (HYS 451-28X)
36,0003 x 122 432
O LX=(BCH =2l 712-481K)
47,1603 122 566
2 S52g4l 34,701 36,315 A1,614
OJ18E ARA U RIRHI(SR)
1,375@ %30 £ ~60! 2,475
O==3H| &4l &bl 250,000 +65 1,500
OE=3H| &l "&b 1,5092%200 £ 320
ok=zae| Vel Al E&
1,750,000& «12& 21,000
OS =0l MetAE &L=
100,000 *4JH A x 12 4,800




2A:

A= A4t

g g Jggds fle TADIgES
chel: S22zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=22d XA & N=HHNE RF
]l 1,50021%12 £ 240 4,606
206 M=l 44,783 44,783
01 M=4l 44,783 44,783
OXE E2E+E il 44,090
OxXgrYSXE S 45
231,00021*60H 13,860
ORMHOIAZ 14,0002 *1,500% 21,000
OAIHIE 5,000 2505 1,250
OZeH 23,0003 »200m* 4,600
O=TH(2H4) 16,0002 x200m’ 3,200
O=d0l S 38 18,0002 *10H 180
O==2+ MU otd2e|S A 693
O3 AR HEXIE 60,0002 *1H 60
OSAtE A 25,0002 *10H 250
O3ALE ctet2 13,2002 10H 132
(OFSPNFNE=2= 15,0003 *5H 75
ORIg3d 1S 17,6002 % 10H 176
305 Hi& =S 10,000 5,000 5,000
01 Hie=S 10,000 5,000 5,000
OZ=ZAIE ALDZd Hiats
500, 000& »202] 10,000
401 Al HIZL S 0HYI 2,183,900 2,401,915 A218,015
01 Al&HI 2,177,915 2,398,135 N220,220
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